3GPP TSG-RAN WG4 NR AH Meeting













R4-1700280
Spokane, Washington, USA, 17 - 19 January, 2017
Agenda item:
3.1.1.1
Source: 
NTT DOCOMO, INC.
Title: 
Summary on simulation results for WP5D co-existence study
Document for:
Discussion
Introduction

This contribution summarizes simulation results for WP5D co-existence study provided via RAN4 reflector and RAN4 #81 meeting from interested companies. 
Summary of simulation results
All simulation results are captured in the spread sheet attached in this contribution.

Discussion

In this co-existing study, ACIR model is defined as below:
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According to the above definition, Table 3, 4, 5, and 6 show the required BS ACLR, UE ACS, UE ACLR, BS ACS, respectively as information. It should be noted that the cases highlighted in red in these tables require more severe ACLR/ACS for NR than that for LTE. For example, in table 5, if ACIR = 30 and BS ACS = 30 then required UE ACLR = 76, which is higher than the current UE ACLR. 

Table 3: Required BS ACLR

	　
	ACIR = 10
	ACIR = 15
	ACIR = 20
	ACIR = 25
	ACIR = 30

	UE ACS = 5
	-
	-
	-
	-
	-

	UE ACS = 10
	56.38 
	-
	-
	-
	-

	UE ACS = 15
	11.65 
	61.38 
	-
	-
	-

	UE ACS = 20
	10.46 
	16.65 
	66.38 
	-
	-

	UE ACS = 25
	10.14 
	15.46 
	21.65 
	71.38 
	-

	UE ACS = 30
	10.04 
	15.14 
	20.46 
	26.65 
	76.38 

	UE ACS = 35
	10.01 
	15.04 
	20.14 
	25.46 
	31.65 

	UE ACS = 40
	10.00 
	15.01 
	20.04 
	25.14 
	30.46 

	UE ACS = 45
	10.00 
	15.00 
	20.01 
	25.04 
	30.14 

	UE ACS = 50
	10.00 
	15.00 
	20.00 
	25.01 
	30.04 


Table 4: Required UE ACS
	　
	ACIR = 10
	ACIR = 15
	ACIR = 20
	ACIR = 25
	ACIR = 30

	BS ACLR = 5
	-
	-
	-
	-
	-

	BS ACLR = 10
	56.38 
	-
	-
	-
	-

	BS ACLR = 15
	11.65 
	61.38 
	-
	-
	-

	BS ACLR = 20
	10.46 
	16.65 
	66.38 
	-
	-

	BS ACLR = 25
	10.14 
	15.46 
	21.65 
	71.38 
	-

	BS ACLR = 30
	10.04 
	15.14 
	20.46 
	26.65 
	76.38 

	BS ACLR = 35
	10.01 
	15.04 
	20.14 
	25.46 
	31.65 

	BS ACLR = 40
	10.00 
	15.01 
	20.04 
	25.14 
	30.46 

	BS ACLR = 45
	10.00 
	15.00 
	20.01 
	25.04 
	30.14 

	SB ACLR = 50
	10.00 
	15.00 
	20.00 
	25.01 
	30.04 


	Table 5: Required UE ACLR
　
	ACIR = 10
	ACIR = 15
	ACIR = 20
	ACIR = 25
	ACIR = 30

	BS ACS = 5
	-
	-
	-
	-
	-

	BS ACS = 10
	56.38 
	-
	-
	-
	-

	BS ACS = 15
	11.65 
	61.38 
	-
	-
	-

	BS ACS = 20
	10.46 
	16.65 
	66.38 
	-
	-

	BS ACS = 25
	10.14 
	15.46 
	21.65 
	71.38 
	-

	BS ACS = 30
	10.04 
	15.14 
	20.46 
	26.65 
	76.38 

	BS ACS = 35
	10.01 
	15.04 
	20.14 
	25.46 
	31.65 

	BS ACS = 40
	10.00 
	15.01 
	20.04 
	25.14 
	30.46 

	BS ACS = 45
	10.00 
	15.00 
	20.01 
	25.04 
	30.14 

	BS ACS = 50
	10.00 
	15.00 
	20.00 
	25.01 
	30.04 


Table 6: Required BS ACS
	　
	ACIR = 10
	ACIR = 15
	ACIR = 20
	ACIR = 25
	ACIR = 30

	UE ACRL = 5
	-
	-
	-
	-
	-

	UE ACRL = 10
	56.38 
	-
	-
	-
	-

	UE ACRL = 15
	11.65 
	61.38 
	-
	-
	-

	UE ACRL = 20
	10.46 
	16.65 
	66.38 
	-
	-

	UE ACRL = 25
	10.14 
	15.46 
	21.65 
	71.38 
	-

	UE ACRL = 30
	10.04 
	15.14 
	20.46 
	26.65 
	76.38 

	UE ACRL = 35
	10.01 
	15.04 
	20.14 
	25.46 
	31.65 

	UE ACRL = 40
	10.00 
	15.01 
	20.04 
	25.14 
	30.46 

	UE ACRL = 45
	10.00 
	15.00 
	20.01 
	25.04 
	30.14 

	UE ACRL = 50
	10.00 
	15.00 
	20.00 
	25.01 
	30.04 
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Figure 1: Relationship between ACLR and ACS
Conclusion
This contribution summarized simulation results for WP5D co-existence study provided via RAN4 reflector and in RAN4#81AH meeting from interested companies. All simulation results are captured in the spread sheet attached in this contribution. In addition, this contribution provided possible combination of ACLR and ACS derived from ACIR. 
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